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HIAT : (1S 77) Ix1=2
(i) UHRfessss, difeesss, THRIGHM, WEHIEH (HCN & gfd 1firfsramsfierar)
(i) (CHz),CHCOOH, CH4CH,CH(Br)COOH, CH;CH(Br)CH,COOH

(31T gl )

(ili) CH3CH,OH, CH;CHO, CH;COOH (Fa2Teh)
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3. fmafafea Suai % fog R fofeu 2x1=2
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(i)  SIIH 6T g § Ufeearsel 1 TRl T8 BT & |

s ™
4. (%) fafafga & fag s fafee . 3x1=3
() e S 1 foe 2 Sefe vl srfaea 7
(i) UOAfeh Soieeirnt Ufoeemaa sfufskmsti § UHAY WHR o- 3R
p-Ficeres BT 7 fobrg UMRA o ATSER0T § m-ATSEINHeE <
TExaqUl AT St 2 |
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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)
(i)
(iir)
(iv)

(v)
(vi)

This question paper contains 12 questions. All questions are compulsory.

This question paper is divided into three Sections — A, B and C.

Section A — Questions no. 1 to 3 are very short answer type questions, carrying
2 marks each.

Section B - Questions no. 4 to 11 are short answer type questions, carrying
3 marks each.

Section C - Question no. 12 is case based question, carrying 5 marks.

Use of log tables and calculators is not allowed.

SECTION A
Arrange the following compounds in the increasing order of their
property indicated : (Any fwo) 2x1=2
1) Acetaldehyde, Benzaldehyde, Acetophenone, Acetone (Reactivity
towards HCN)
(i) (CH3)9CHCOOH, CH3CH,CH(Br)COOH, CH3CH(Br)CH,COOH
(Acidic strength)

(iii) CH3CH,OH, CH3CHO, CH3COOH (Boiling point)

In a plot of A, against the square root of concentration (Cl/ 2) for strong
and weak electrolyte, the value of limiting molar conductivity of a weak
electrolyte cannot be obtained graphically. Suggest a way to obtain this
value. Also state the related law, if any. 2

Write reasons for the following statements : 2x1=2
) Benzoic acid does not undergo Friedel-Crafts reaction.
(i1)  Oxidation of aldehydes is easier than that of ketones.

SECTION B
(a)  Write reasons for the following : 3x1=3
(1) Ethylamine is soluble in water whereas aniline is insoluble.

(i1))  Amino group is o- and p-directing in aromatic electrophilic
substitution reactions, but aniline on nitration gives a
substantial amount of m-nitroaniline.

(iii) Amines behave as nucleophiles.

OR
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(@) o f=faRea ufeds wa +ar . 3x1=3
(i)  ATEgEE § U
(i) TIATHISS § HAAHH
(i) UATATEERA § TIHHA

5. (F) () d° 1 Toreed &7 faured fagia & mum W ol famma
fafguafc A, <P 2 |
(i) [Fe(CN)gl3- goa b & Safh [Fe(CN)gl4— Sfograshi
2 1 38 YA i g & foae sror i |

[T 3hHTS : Fe = 26]
(i) HPA [Co(NHy)glCl, % foemm # 3Iewmfeq ol 1 @
fafay | 3x1=3

AT
(@) () HFA [CoFgl3 1 hacl T=hUT Frechid A0 TR hIT |
(Co =T TTHTY AT = 27)
i) feu T Hpe w1 ITUPAC 7 ferfiae
[CrCl,(H,0),1CI

(i) = <t et B | w-a Afees Tl g R =i 2

6. G)  fr=tafga 8 9 sH-91 3 A @ 3 =1 2
Ti4+, Cr3+, V3*
(9T 3RHT : Ti =22, Cr=24, V=23)

(i) AR o Ufd Fe2+ 1 g § Mn2+ §igd 3ffereh Wiale o g ?

(i) Trel a1g N ITAW SATFARWT TTTAT Ik had ATFHRS AU
T3TIsE § Yeiia Bt 8 2 30 em <t gfee i | 3x1=3
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hitps:/byjus.com




BYJU'S

The Learning &pp

(b)  How will you carry out the following conversions : 3x1=3
(1) Nitrobenzene to Aniline
(ii)) Ethanamide to Methanamine
(ii1) Ethanenitrile to Ethanamine
(a) (1) Write the electronic configuration of d® on the basis of
crystal field splitting theory if A) < P.

(i)  [Fe(CN)gl 3 is weakly paramagnetic whereas [Fe(CN)6]4_ is
diamagnetic. Give reason to support this statement.
[Atomic no. : Fe = 26]

(i1i) Write the number of ions produced from the complex

[Co(NH3)glCly in solution. 3x1=3
OR
(b) @A) Calculate the spin only magnetic moment of the complex

[CoFgl3~. (Atomic no. of Co = 27)

(ii))  Write the ITUPAC name of the given complex :
[CrCly(H50)41C1

(i1i))  Which out of the two complexes is more stable and why ?

[Fe(H20)6]3+, [Fe(0204)3] 38— 3x1=3

(1) Which ion amongst the following is colourless and why ?
Ti4+, Cr3+, V3*
(Atomic number of Ti = 22, Cr =24, V =23)

(ii)  Why is Mn2* much more resistant than Fe?*+ towards oxidation ?

(iii) Highest oxidation state of a metal is shown in its oxide or fluoride

only. Justify the statement. 3x1=3

5 my P.T.O.
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7. T A A (C,H,0) adishd Bt B’ (CoH,0,) ST B | ‘A’ HATASIEH
JAffshan grT el 3@y a1 & 991 HCN & 31ffshan wteh Fifies ‘¢ <91 7 |
‘C TA-IEd B 2-gISGIFETIUATSh 70t ST 8 | AfTeh ‘A’ B’ 3 ¢’ hi

JguH hIfSY | Teg Affshanatt & aisr fafau | 3
8. feu mu fu3 <1 sraaiie hifve it f=afalaa eai & s difvie . 3x1=3
y
/F
[ 1
| & //”
bﬂ’
3 }
O X
Logp —

(i) 39 W Al o RIS % s bl iR ®9 § foiflgu |
(i) SATIE hl & o1 8 ?

(ii) @1 1 Ad:@S H1 Fefug war g ?

9. (%) Fmfafaa srfufsrerest @ deg wiem fafem 3x1=3
() S, UEed FAse % Ay A S R |
(i) & a9 W UeH, S Sa & e STl ST 7 |
(i) UfeM, FOEE S wHifaes deRmm IEgeEEe % w1y
arfirfopan st B |
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A compound ‘A’ (CoH4O) on oxidation gives ‘B’ (CoH4O9). ‘A’ undergoes

Iodoform reaction to give yellow precipitate and reacts with HCN to form

the compound ‘C’. ‘C’ on hydrolysis gives 2-hydroxypropanoic acid.
Identify the compounds ‘A’, ‘B’ and ‘C’. Write down equations for the

reactions involved. 3
Observe the given figure and answer the following questions : 3x1=3
y
b
Q
- & - - a
M|lg | _--
I 2
S)
.
O X
Logp —
) Write the expression for adsorption of gases on solids in the form of
an equation.
(ii))  What is the slope of the graph ?
(iii) What does the intercept of the line represent ?
(a)  Write equations involved in the following reactions : 3x1=3
i) Ethanamine reacts with acetyl chloride.
(i1)  Aniline reacts with bromine water at room temperature.
(i1i) Aniline reacts with chloroform and ethanolic potassium
hydroxide.
OR
7 e P.T.O.
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@) () Ffafea sEfew R/ w1 ITUPAC ™ fafew :
(CH3CH,),NCH,
(i) T=faRaa & fou g fafau .
@  Nfsua Afcmrss dvaww

(1) BHaH sHmEs Fefem 1+2=3
298 K W ffcfigd o« & fou =< wfteror fafgu ot farsa (emf)
giesferd HIfST 3
Cr|Cr3+(0-1M) || Fe?* (0-01 M) | Fe
fenmng: E©, ——075V
Cr°t/Cr
E®, ~ =-045V
Fe“"/Fe
(log 10 =1)

(®) () Hot e ¥ foeat WA % d-hereh quiaan wid g 8, foe ot
T8 HHAUT q HHT 1T 8 | h hl gfse hifSu |
(i) Mn 3R Zn % E§2+/Mmaﬁfmn1=ﬁﬁafw FUCHh o1
B8 ?
(iii)  EshuvT oTqe e = fafa et § 2 3x1=3
EPC)]
(@) = e mu fag & nyr W F=faiaa et & 3@ G 3x1=3
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b)) @ Write the IUPAC name for the following organic compound :
(CH3CHg)9NCHg
(i1)  Write the equations for the following :

(D Gabriel phthalimide synthesis
(II) Hoffmann bromamide degradation 1+2=3

Write the Nernst equation and calculate emf of the following cell at
298 K: 3
Cr|Cr3+(0-1 M) || Fe2* (0-:01 M) | Fe

Given: E®© =— 075V
cr3t/Cr
E®, ~ =-045V
Fe*"/Fe
(log10=1)

(a) (1 Silver atom has completely filled d-orbitals in its ground
state, it is still considered to be a transition element. Justify
the statement.

©
(ii)) Why are E values of Mn and Zn more negative than

M2*+/M
expected ?
(iii) Why do transition metals form alloys ? 3x1=3
OR
(b)  Answer the following questions on the basis of the figure given
below : 3x1=3
900
800
700
I 600
7. 500
B 4001
3 Series 1
0]
i 300
2]
< 9001
100
0

Atomic number ——

Eﬂﬂn 9 mm P.T.O.
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12.

1)  3dFuft & ford I 1 HUE TETH <[HaH Bt 8 ?
Gi) T it qfim Sfet & gt it Fom Tdeh e = Bt € 2
(iii) TSHHYT GTg3Ti hl HUE TAH 3= FAi Bt § 2

Qus

= e T srgeeie Wi ufeu ot ffafad At o 3w @R 1+1+142=5

forelt Tamafes arfufshen & forw o fem, erfuifsran o =t srfrement it @rgan
31T A TE & FTUd hdl & | Th W AMHGRAT aA + bB —> C
ot gaeht rfufsean SRifafy 4 @5 Aegad] =@ 7€l &, 31iq I8 T TAtieh
srfufsren 8, o frem fm Smam @ r = k[AT¥[B)Y & [A] 3R [B], A 3T B #
qrgatsti o1 Oid Ifd <fiet ¥ sl sd & | gmames x 3R y T3 ifufskan &
fore uftafda gra & fo2 s gro fraifa fopn S 2 1 k& 9 39wyt
% 1Y gEfdd gid & S STfsha 9 ol UWIfad hidt & S| a1, g1e, 53
SABA, AMC | T TTdlehl b1 Sig ATUTHAT il ot HIfe & €4 T AAT 14T 7 |
[ il i STMITSRAT T o7 FRR T&dT & 3T I8 STHeRIehl i Aigar W e
T Tad BIa1 8 | YoM hife hl AR haat T Afiehieh i digar W i
HA 7 | Toh TR fgefta ife 61 el Il 8 91 39! o Hife & & | Th
gR Ife gue Irfufshan b hife Fuifa ot <, @ &7 awm e Tt of
YRR WM o Toh 9= & k g L Tehd & |
(i) TfciRad a7 s aTett ATRAT i Ha Hife TR HIWT :
9T = k[A]V/2 [B]3/2
(i)  AffshaT & AT W qTY T R IWE BT | 2
(i) 3ffsam o & @ 1frmT 7 2
(iv) (%) T YW il I AMBRAT &l 50% IO 84 H 77-78 e T0rd
7 | 38 AR % 30% U 81 H @ dTcl GHT 1 IReheH
IR | (log 10 = 1, log 7 = 0-8450)

BOE]
(@) UH gem Hife it rfufsran 1 o feemes 1 x 1073 ufa Jve 2 |

30 Affspan # SAfirepres 1 AN 5¢ & =t 3 g B | fohat
I & ? (log 3 = 04771, log 5 = 0-6990)

[=1E5:
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) Which element in 3d series has lowest enthalpy of atomisation ?

(ii1) Why do metals of the second and third series have greater
enthalpies of atomisation ?

(iii) Why are enthalpies of atomisation of transition metals quite high ?
SECTION C

Read the passage given below and answer the questions that

follow : I1+1+142=5

The rate law for a chemical reaction relates the reaction rate with the
concentrations or partial pressures of the reactants. For a general
reaction aA + bB — C with no intermediate steps in its reaction
mechanism, meaning that it is an elementary reaction, the rate law is
given by r = k[A]¥[B]Y, where [A] and [B] express the concentrations of A
and B in moles per litre. Exponents x and y vary for each reaction and
are determined experimentally. The value of k varies with conditions
that affect reaction rate, such as temperature, pressure, surface area, etc.
The sum of these exponents is known as overall reaction order. A zero
order reaction has a constant rate that is independent of the
concentration of the reactants. A first order reaction depends on the
concentration of only one reactant. A reaction is said to be second order
when the overall order is two. Once we have determined the order of the
reaction, we can go back and plug in one set of our initial values and
solve for k.

1) Calculate the overall order of a reaction which has the following
rate expression :

Rate = k[A]V2 [B]3/2
(i1)  What is the effect of temperature on rate of reaction ?
(i1ii) What is meant by rate of a reaction ?

(iv) (a) A first order reaction takes 77-78 minutes for 50%
completion. Calculate the time required for 30% completion
of this reaction. (log 10 = 1, log 7 = 0-:8450)
OR
(b) A first order reaction has a rate constant 1 x 105 per sec.

How long will 5 g of this reactant take to reduce to 3 g ?
(log 3 = 0-4771; log 5 = 0:6990)

[=1E:
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